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HDCPERR: (8) 36.0 (&) 36.0 &% BEIBLL : NET - &M% - A€ AR - O—HD

HDGPTFRR: (5B) -5.0 (&) -5.0

JIE £z WA A OUT |IN  |GROSS| HDCP | NET 1B 52 WA % OUT |IN  |GROSS| HDCP | NET JIE 52 Bk E A OUT |IN  |GROSS| HDCP | NET
M |BEX HX 40 36 76| 7.2| 68.8 ML |RE E— 45 43 88| 13.2| 74.8 814 | THE f8#k 54 51| 105 25.2| 79.8
1 |BE BR 39 37 76| 7.2| 68.8 26 |RE EA 42 40 82| 7.2| 74.8 824 |XH $REA 61 50| 111} 31.2| 79.8
Mz |ZIg RIE 45 46 91| 21.6| 69.4 A3 |HERE R 43 45 88| 13.2| 74.8 83 |HWER F= 58 57| 115 34.8| 80.2
Mi |BH F— 41| 36| 77| 7.2| 69.8 Mz |PTR B 43| 50| 93] 18.0| 75.0 844 |HE fHIT 58| 56| 114| 33.6| 80.4
5 |HE Ht 39| 36| 75| 4.8] 70.2 451 | KE FEth 44| 43] 87| 12.0] 75.0 85 K EE 53| 59| 112| 31.2| 80.8
6 |EER R& 52| 53| 105| 34.8| 70.2 4661 |NE E—E 45| 41| 86| 10.8] 75.2 864 |BE {2 64| 53| 117| 36.0| 81.0
L |EB# FORK 36| 38| 74| 3.6| 70.4 4 BB EZ 42| 37| 79| 3.6| 75.4 87t |NE & 63| 54| 117| 36.0| 81.0
8t |ER W 49| 48| 97| 26.4| 70.6 486 |RR XiE 54| 43| 97| 21.6| 75.4 88f |#AH = 56| 49| 105 24.0| 81.0
of  |BE SR 39| 51| 90| 19.2] 70.8 M B EE 50| 53| 103| 27.6| 75.4 894 |&MR BAE 60| 57| 117| 36.0| 81.0
1060 |/NEF Eth 37| 44| 81| 9.6| 71.4 500 |RAN B 52| 44| 96| 20.4| 75.6 90t /N sz 56| 60| 116] 33.6| 82.4
e (& A 44| 42| 86| 14.4| 71.6 54 |l #7EER 43| 41| 84| 8.4] 5.6 91 |l 1BE 60/ 50| 110| 27.6| 82.4
1262 |f8E EA 45 53 98| 26.4| 71.6 521 |iEH 24— 46 49 95| 19.2| 75.8 024 |fHE FEH 57 62| 119 36.0| 83.0
1362 [T FF 47 44 91| 19.2| 71.8 531 |iEHA EE 51 44 95| 19.2| 75.8 9 | KIE Rz 51 58| 109 25.2| 83.8
1462 |mE KE 47 38 85| 13.2| 71.8 b4 |RE& #%F 43 51 94| 18.0| 76.0 96T kK FIE 56 64| 120 36.0| 84.0
1561 | EtE 54 48| 102| 30.0| 72.0 551 |® fE= 48 45 93| 16.8| 76.2 954z /MR FA 58 59| 117 32.4| 84.6
16462 |HS  FES 49 41 90| 18.0| 72.0 5661 |BF B 39 41 80| 3.6 76.4 966 [#FK FE 55 61| 116 31.2| 84.8
1M |5\ X 40 37 77| 4.8 72.2 57 |&H KB 44 47 91| 14.4| 76.6 I |RR 2 56 59| 115 30.0( 85.0
182 |FIL F03F 39 43 82| 9.6/ 72.4 5861 |RHE ER 45 52 97| 20.4| 76.6 98 |FHH #F 51 44 95| 9.6| 85.4
196 | #HE B 40 42 82| 9.6/ 72.4 59 |iIF: 50 53| 103| 26.4| 76.6 96 |k HW 52 50| 102| 15.6| 86.4
2046 |H foik 45 42 87| 14.4| 72.6 60z |/ME fAth 50 47 97| 20.4| 76.6 10062 | A% 4t 61 62| 123| 36.0| 87.0
216 | k& EXEA 37 38 75| 2.4] 72.6 61 |BEKR BT 47 43 90| 13.2| 76.8 101462 |#1E@ & 65 59| 124| 36.0| 88.0
24 |BR FR 46 52 98| 25.2| 72.8 6261 |== FBEsh 46 50 96| 19.2| 76.8 10242 |PIE #th 65 63| 128| 36.0| 92.0
23| B 46| 40| 86| 13.2| 72.8 63 |FE fFE 49| 46| 95| 18.0| 77.0

2441 |FIL HER 52| 46| 98| 25.2| 72.8 64 | ILE BE 47| 47| 94| 16.8] T1.2

56 |BE Mz 49| 49| 98| 25.2| 72.8 656 |#tL FOER 49| 55| 104| 26.4| 71.6

260 |FEF B= 43| 42| 85| 12.0| 73.0 664 |HEE  HE 56| 48| 104| 26.4| 71.6

21 |BRE K 49| 48| 97| 24.0| 73.0 6741 |&ZE = 52| 46| 98| 20.4| 71.6

2861 |RE =N 51| 51| 102| 28.8| 73.2 681 |EE ki 45| 52| 97| 19.2| 71.8

200 |E#EE X 51| 49| 100| 26.4| 73.6 69 |E {SIA 59| 49| 108| 30.0| 78.0

04z |HIE I 40 41 81| 7.2 73.8 106 |HE #BE 43 46 89| 10.8] 78.2

36 |REE B 40 41 81| 7.2 73.8 N |Bf R= 53 60| 113 34.8| 78.2

324z |t R 49 44 93| 19.2| 73.8 261 |=R =HR 48 58| 106 27.6| 78.4

33y |pEE F 48 45 93| 19.2| 73.8 3z (BEO B 57 48| 105| 26.4| 78.6

4G /MR ISR 40 47 87| 13.2] 73.8 TAL & ml 57 47 104| 25.2| 78.8

356 KA [EE 44 48 92| 18.0| 74.0 56 |HIL FA 63 46| 109 30.0 79.0

366 |[tkBE 42 44 86| 12.0| 74.0 1661 |#RK REF 53 49| 102 22.8| 79.2

Mz MR HE 49 48 97| 22.8| 74.2 T |BA W 50 52| 102 22.8| 79.2

Bz IR ER 48 42 90| 15.6| 74.4 T8GL | el 40 43 83| 3.6/ 79.4

9 |ERE KB 45 51 96| 21.6| 74.4 196 A EEZ 60 41 101 21.6| 79.4

06 |FHHF EE 45 43 88| 13.2| 74.8 80z (B EZ2 50 50| 100 20.4| 79.6
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